O
)

ot

1.

® y=2x+2

@ 2x-1=x

® x-1=0

® x-y=1

@ xy=1



ohS LAPYY FAH 2% (-1, 4) 7h 7} He A mE w2
9

® 3x-2y=-11 @4)6—%)/:10
@ -2x+3y=14 @ -7Tx+2y=5

® -0.5x+2.5y =11



2x-y=3

8

3x + 2y

@ x=2y=3

DO x=-2,y=1

@ x=2y=1

-3

®x=-2,y

®x=2y=-1



S, a+ b9

1€ x=a, y=>b=f

9|

S -

I
0~
[\ )

| I
5 &

T

Z =
[InRE s
——

@ 2 3) 3 @ 4 3B 5

D 1



x—y=3
@ y

2x — 2y

2x+y=5
3 y

x+2y=4

6x—2y=4
® Y

i)
rlo

®

pa)

2x—y=1
dx=2y—-2
xX=y+2
3x-3y=4



@ x=0,y=2 ® x=2,y=0

@ X:_Q, y:()

® x=4,y=-3

@ x=-2,y=6









B 16 ohElo]al, vl o] e 4471

oy
g
.
1jo
-
A =
<o
o ™
~o ~—
N R

]



10. Hi=2 72 20km 71&2 2= 2 A7 22 A uhE Y o=
1 AZto] At ZE0] &8} o] &3S g2 15kt (H,
T km/A])

B e km/h
B e km/h



11.

ol 3t o] A SHY = B 1000 ol et wdoles Eoty
o] 4% . oJstAlo] 6% Z7}5te] WA R 49 Ho] Zr}stact. 2hd
debgo] 4 v | Zhd olsh o] 22y olaty & o), Fdo] &
S 52 v, y & AH8Ste] LhER?

4 6 96 94

o0 —y =104 —y = 1049
SO oW

X T 1oy = 1049 ——x———y=1049
S e

— —y = 1049
© 15t 1060 =



12, Az3dAA

x y_5 9 7t (a, b) A o, a-b 2] B

{O.Sx —05y =19

27376
Fohw?

D 1 ® 2 3 3 @ 4 G 5



13. A, B Aol 2ol 4& 5k 6 L Al 92 A7k A AT
el & B 7} 14 22 Astel Bubgleh A 7k EAM 2 A

Hdo] A A7

D 9 @ 10 BQ 12d @ 15 « G 20 Y



+4y =17 _
14. aA=zwpmgay )TV o &7t (-1, 5) L W, a+b O FE
5x + by =10



15. (a+b):(b+c):(cta)=2:5:70La+b+c=42¢% 0,
c—a-b 9 g2
® 20

@D 10 ® 12 3 14 @ 18



